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^ ̂ ^ <MROH (q"I«tj)

qilitii nii*^s\K "^tcIT "t ?

(A) ̂ Vlf^Qi (B) "QfSjtoFTf^F^

(C) (D)

52. ' PHMrdRsid ^ ̂  MT ■^*

^ -tSKN ^JTT

1^ "^R "3^- aiH*HI1

"f^T^ ^incTT ^ ?

(A) o^nipq^i (B) fsrf^JWT

(C) (D) ^

53. "WJ^ ^ PiPv^d WT ai^ ̂

t 3^ 3rMKd WT
^ t, "3^ ^ t :

(A) elTO

(B) "qfM^ Win

(C) "3?^^ WKT

(D) •^f ^

54. "ISO-9000" ^ cn?^ t :

(A) TRH^

(B) Bmr iri^

(C) "qWm TTPT^

(D)

(2)S/09/2024/A

51. Which group of plant pigments , is

responsible for the red, orange and

yellow colours of fiuits and vegetables ?

(A) Chlorophyll (B) Anthocyanins

(C) Carotenoids (D) Flavinoids

52. Which of the following processing

methods involves heating food at high

temperatures for a -short period of time

in order to reduce the risk of spoilage ?

(A) Blanching (B) Irradiation

(C) Pasteurization (D) All of these

53. Cost that doesn't change over a period of
time and doesn't 'vary with output is
known as :

(A) Fixed Cost

(B) Variable Cost

(C) Direct Cost

(D) None of the above

54.- "ISO-9000" refers to :

(A) Quality Management Standards

(B) • Quantity Management Standards

(C) Qualification Management
I

Standards

(D) All of the above

P.T.O.
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55. ^ ^ "t

'WR Xfe 133 "^f

1^*11 ^TM ^ I SR fqrf^RX^ ^ ̂ "^f
*" ■ H14I 'Jlirti "t

t :

(A) 10 (B) 100

(C) 10 (D) 100

56. rHHfdRdd -^f ^ ufcTf^"

^ t ?

(A) ^

(B) 3t^M 1^*
yrdPshiii

(C) 3t^M ̂  T?:^' ^
yPdli-MI

(D) artfHt TT^- diNlpHd ^
yPdPsb^i

57. "3^ ^ ̂  ^ Pn^ci
HI<>HH ^3n?TT "I" ?

(A) 3^^

(B) MP<d)crMdl .

(C) -ar^^fw (fwter)

(D) a#T^. (-fe^)

58. Hieil ^ T^T, ?ftw fc^nf^
!fi=t<ti< oFit "HM'

^  "I I

(A) "^-1^^.

(B) ̂ g3tM3<

(C)

(D) 3a^ ̂f ^ ̂  -3^'

(2)S/09/2024/A

55. Irradiation is a technology of food

preservation where radiation is measured

in Rad and Megard. Now radiation is

measured in Gray which is equivalent

to:

(A> lORads (B) 100 Rads

(C) 10 Megards (D) 100 Megards

56. Which of the following is known as

"Maillard Reaction" ?

(A) Reaction between amino group and

hydroxyl group

(B) Reaction between amino group and

keto group

(C) Reaction between amino group and

aldehyde group

(D) Reaction between amino group and

carbonyl group

57. What is the name of "the conceptual
framework in which the reasearch is

carried out ?

(A) Research objectives

(B) Research hypothesis

(C) Research synopsis

(D) Research design

58. The sugar content of fruit juices,
softdrinks, jam and jellies etc. can be
measured using :

(A) pH meter

(B) Butyrometer

(C) Refractometer

(D) None of the above '
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59. ^

^  Ri^hPTI^ REiTfA^

t I ^ "to^. ■^' Wftn .-^f 3TT^
% t :

1

(A) ^a;fRRT|¥

(B) HTisjto

(C)

(D) ^ m frrm

60. 1^* ^ ^

w ^ t ?

(A) ^ (B) ■

■  (C) "R^ (D) ^

61. "Rm "0^' ^ -q^
"5^ ^ "qft 3TT^?R^ ^

"R^ 1^ l^RcI (consumption unit)

(A) 1.8, 1.4, 1.2 (B) 1.6, 1.2, 1.0

(C) 1.5,1.2, 1.0 (D) 1.4, 1.1,0.9

62. IRR ^ ^ -^rni

ctilcr^^iQi ^ tnmsN^t) RTRT t" ?

(A) LDI^"^ witoftR

(B) VLDI^"^ # WM#T

(C) hdi^itI wMzhr

(D) ^ "R^'

(2)S/09/2024/A

59. For extending the shelf life of food

products modijfied atmosphere packaging

is used. The gas used in this packaging

is :

(A) Carbon dioxide

(B) Nitrogen

(C) Oxygen

(D) Mix. of all the three

60. Which of the following foods can be

termed as a "Probiotic" ?

(A) Apple

(C) Fish

(B) Curd

(D) Ghee

61.

62.

For computing calorie requirement for an

adult male from heavy, moderate and

sedentary work categories, the

consumption units will be respectively :

(A) 1.8, 1.4, 1.2 (B) 1.6, 1.2, 1.0

(C) 1.5,1.2,1.0 (D) 1.4, 1.1,0.9

The form of cholesterol which is

considered beneficial for heart health is :

(A) LDL—^Low Density Lipoprotein

(B) VLDL—Very Low Density

Lipoprotein

(C) HDL—^High Density Lipoprotein

(D) None of the above

P.T.O.
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63. ^ ̂

^ 1^ .■^IRT "SIM t ?-

(A) Anirvmi^ (B) tlMwr

(C) ^ (D)

64. 3iWqT-3 T3j^ a^T^) ^

Pi^^RiHad '^* "^j®H 'T^

"  t ?

(A) ^l^qi-3 q,RH-S

Tnta #if ^ UM ^ 11

(B) WTT ■ "3^ dlMMH ^qT

3Tt^-3 to ^ im

t I

(C) ALA, DHA EPA ^ #!>*

aiWqT-3 to- T3j^T^ t I

(D) arofj^tPR)

(ato^) ^ 3iWTTT-3 to
■qj^n^ i\ t I

65. "PTHfMw to ICDS ^ to

■qto (^ ^) ^ t ?
:

(A) "qfen

(B) toq

(C) tor^

(D) ato^fe

(2)S/09/2024/A

63. Which mineral is best known for its role

as an antioxidant ?

(A) Magnesium (B) Selenium
/

(C) Copper (D) Potassium

64. Which one of the following statements is

not correct for Omega 3-fatty acids ?

(A) Omega 3-fatty acids are obtained

both from plants and animal

sources.

(B) The degradation of omega-3 fatty,

acids occurs at high temperature

during cooking.

(C) ALA, DHA and EPA are the three

omega-3 fatty acids.

(D) Linoleic, Linolenic and Arachidonic

acids (acidic) are also omega-3 fatty

acids.

65. Which one of the follo-wing is not a-

functioning system (part) of ICDS ?

(A) Immunization

(B) Supplementary Nutrition

(C) Skill Development

(D) Non-formal Education

https://applink.adda247.com/d/XhqWf9lSap
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66. RnRriRsid -qMh ̂  ̂

^ ^ i ?

(A) 'm

(B) ̂ <1^+ "qtlOT,

(C) "^-Wlter ST^ITFI

(D) 3qi^Kt^ iiQ^I<=bH

67. (Resistant Starch)

WI ̂  t ?

(A) "3^^ ''J^ 2 Rf)Qil<Stril<l TlftT
"JIPT ?hTT ^

(B) -ciiq^n, 311^

-^f W

t I

■  (C) ^
'  "qf^ (SCFA) 'k ̂  ̂ t

(D)^ 1^ WT^TR? ^ ̂ t,
m: '^^ ̂  TtpFTf
^ifWR^ ̂  t I

68. ^ PiHPcriRsid

■^f ih* ̂  ̂  ^

(A) ^ site "q^*
■^rn^- sTT^

(B) aite i[iR, site ^
RWT ^^IT ^TcR sn^

(C) wm "at^, TRZR ^ te
"^1^ STT?R

(D) Site "at#!, ter ^iteRts ^ tei
^TcTT SIT?R

(2)S/09/2024/A

66. Which one of the following is not a
direct method of assessment of

Nutritional status ?

(A) Anthropometric Measurements

(B) Clinical Examination

(C) Biochemical Estimation

(D) Dietary Assessment

67. Which of the following statements is. not
correct m relation to resistant starch ?

(A) Its energy value is'2 kcal per gram

(B) Oats, cooked rice, cooked potatoes,
banana and maize are its prominent
sources

(C) The intestinal bacteria change the
resistant starch into Short Chain

Fatty Acids (SCFA)

(D) It has a high glycemic index, so it
is harmful for diabetic patients

68. In dietary management of hepatitis, from
the following how much nutrients should
be given ?

(A) Low protein, high carbohydrate and
moderate fat diet

(B) High protein, high carbohydrate and
moderate fat diet

(C) Moderate protein, moderate
carbohydrate and low fat diet

(D) High protein, low carbohydrate and
low fat diet

P.T.O.
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69. ^ 3TRRT

^ ̂  t ?

(A) "5PT ^ 6 t^*

y.=ti 3^ cRT "iJpTT "^TRU

t

(B) «RT 4 'TT^

3TI3 HIS 3^ flcti "^pTI

^jTRn "I"

(C) ̂  ̂ 9 .W ̂  "TORI ^rpTT

^ 18 1W ̂  "^TOT

«IRTT "t"

(D) ̂  ̂ ̂  ̂ TT?t^ ■^' sm
^ t

70. T3^ 37fe^ t :

(1) 3^^ (^) ^ i^
133^ ^i^SRT

(2) ^ ^ ̂  ^*%T -SRf^ ^

(3) 375?mPT' 73RJT

"(4) i^r ^ 3Tf^

(A) 3 T^^* 4 ^ t

(B) 2, 3 TT^* 4 #

(C) 3 i

(D) '3^T^ ^ ̂  t

(2)S/09/2024/A i

69. Growth of a healthy infant after birth

occurs at which rate ?

(A) 6 months after birth the weight is

doubled while it becomes 3 times

by the end of one .year

(B) 4 months after birth the weight is

doubled while it becomes 3 times

by the end of 8 months

(C) 9 months after birth the weight is
f

doubled while it becomes 3 times

by the end of 18 months

(D) The weight becomes double after

every two months of birth

70. A Research Design is :

(1) A plan for selection of Data

Source

(2) Framework for representing the

relationship between variables

(3) Blue' print of Research

(4) Procedure of Data analysis

(A) 3 and 4 are correct

(B) 2, 3 and 4 are correct

(C) Only 3 is correct

(D) All of the above are correct

https://applink.adda247.com/d/XhqWf9lSap
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71.

72.

PiHRiRsid ^

«ndT ^ ?

(A) RiRT
I.

(B) ^

(C) wm

(p) §ci<(nTcti

T3^ f^RT^ ^^^rqt'^*
<aw <t)<A 1^ RhHi ^TTdl

t : .; '. ■ ■.

(A)

(C) .

(B)

(D) yiRn^i

73. OTf ̂  "qqi ^

WIT t : - ^ ;

(A) ̂  sji-^qii ^qif

(B) "^qif

(C) Js't^i'at "^qrf. , '

(D) ^qif

74. ^ "51^ ̂  ^

:  ■^'adT %, di^dldl t : .

(A) (B) ^

(C) ^

(2)S/09/2024/A

(D) A*8ft

71. Which among the following knitted

fabrics is made by iising two-headed

latch needle ?

(A) Plain single jersey fabric

(B) Double jersey fabric

(C) Purl fabric ^ . i

(p) Interlock fabric

72. A finish that is used to eliminate

shrinkage in wool fabric : "

(A) Crabbing (B) Carbonising

(C) Decating . (D) Fulling

73. A printing technique in which design is

made by removing colour from selected

areas of piece dyed fabric :

(A) Heat transfer printing

(B) Duplex printing

(C) Discharge printing ^

(D) Resist printing ^

74. A stitch of 'Kasuti Embroidery' which
/

appears like steps of a ladder is known

as :

(A) Gavanti

(C) Negi .

(B) Murgi

(D) Menthi

P.T.O.
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-75. WIT ^ WIT'

(Nm) ^ i :

(A) 256 (B) 560
/

(C) 840 (D)' 1000 ̂

76. "^r ^ wift

^  in TT^ ̂  ̂

if "sriW "^sTTciT i ?

(A) ZlW™ -^HlMfocr^ ■

(B) ^Hl4lR4i(rH •

(C) w

(D)

77. "Q^T TITO ̂  ^ ^

^ t^ ■HHFTT ^ WmR ^

■3^^ ^ 1^ WT t :

(A) cjuhifHct). Sin^'tlH

(B) iWNWI^fT 3I3H«TF

(C)

(D) ain^mn

78. Pi*-iRiRaa i* «*ilitii ^ fTO
^  ̂T^ "^T^- i ?

(A) MTdly.Mi^^ (B)

(C) (D) -qMlsUf#!

75. The unit of length in metric count (Nm)

of indirect count system is :

(A) 256 yards (B) 560 yards

(C) 840 yards (D) 1000 metres

76. Which among the following

nanomaterials is used as antibacterial

agent for finishing of textile material ?

(A) Titanium dioxide nanoparticles

(B) Gold nanoparticles

(C) Silver nanoparticles

(D) Carbon nanoparicles

77. A type of research that aims at finding

the solution for a problem of the society

or organization is :

(A) Descriptive research

(B) Analytical research
#

(C) Fimdamental research

(D) Applied research .

78. Which among the following is the fiber

forming substance for spandex fiber ?

(A) Polyamide (B) Polyurethane

(C) Polypropylene (D) Polyethylene

(2)S/09/2024/A 8
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79. PiHPdr^d

(A)

(B) 5rolf^

(C) PcjR^Jl PdWH

(D) .^ci^KH

80. ^ f^

^  ̂ Pdchid^ ^ "5^

^ ̂ nii^ f* :

(A) ^

(B) ^

(C) WT-"^ ̂  '

(D) ^

81. 37rt "^rt^ 3n4 ^

'  "^SIRIT f I ■'T^ "J^FT'

3TT^ ^ 1^ t" I

(A) ^ ̂

(B) W ^

(C) ^ "qR (T3^ ^)

(D) ^ ̂  "^ferf

82. -TO ■R#^ ^ ^ wftq
1^01^ "^f «n?iT i'

^wm ^?TRt W !

(A) 2 (B) 9

(C) 15 (D) 20

(2)S/09/2024/A

79. Which among, the following is a tertiary
method of textile eSluent treatment ?

(A) Neutralization

(B) Reverse Osmosis

(C) Trickling filteration

(D) Sedimentation

80. A technique of non-woven construction
in which fiber .webs are made

immediately after fibers are extruded
from spinneret is :

(A) Dry-laid fiber web

(B) Wet-laid fiber web

(C) Spun-laid fiber web

(D) Spun-lace fiber web

81. The distance between the two arrtiholes

at the front and back is known as

measurement. It is takeri from the mid

point of armhole.

(A) Sleeve length

(B) Sleeve width

(C) Across chest

(D) Shoulder width

82. numbered machine needle is

used to stitch flimsy fabrics, such as net,
chiffon and silk.

.  (A) 2 (B) 9

(C) 15 (D) 20

P.T.OJ
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83. spfhr^rft^'

"aro t I

(A)

(B) ̂

(C) 3^

(D)

84. ^ feRT ^ Wnto

M ̂ oijpcRiiJ* -q;^ ̂  ̂ Wt

sn^ ̂  amr^ "^simr t i

^ 1^ WTTf^ ̂  ̂ ̂Pw4 m

^i(H ."^ 1^)211 ^alRTT "t I

(A) 1?^-3Ta (B)

(C) (D) ̂ l^^ilHd-f^

85. ^ "^cpf ^

"I ̂  oF)14 ^Pri ̂ tm %, -Mecni "OTT

^ ̂  ^ %f ̂  31^

(A) airot^ (^f^) ̂

(B) PsbiJIJiDd (^f%n) ̂

(C) TT ^TdT ("^idT-chllss) "^cpf

(D) ^ .

(2)S/09/2024/A 10

83. Formal and informal are the basic types

of.

(A) Balance

(B) Rhythm

(C) Proportion

(D) Emphasis

84. In.. theory of fashion people

belonging to higher social class first

adopt a style before it becomes a fashion.

People belonging to lower social class

.then imitate this fashion trend.

•  (A) Trickle-up

(B) Trickle-down >

(C) Trickle-across

(D) Diagonal trickle

85. This paper pattern which is coloured on

one side indicates two functions, first the

right side up and second the design

division to which the pattern belong :

(A) Basic Pattern

(B) Working Pattern

(C)' Colour-coded Pattern

(D) Flat Pattern

https://applink.adda247.com/d/XhqWf9lSap
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86. •; -W ^

ctiTirK "q;^ "^Rt"

w\ ̂  "q?^ -q^ 11

qtoq ̂  wf "qK w i, ̂

T^qr "qi "fqq^ Pn^ qrq q ^

■^enqr ^rit t i ^ qq^R qq "^q^R,

sTRiFft iW q^^* q^ qftqrrf

^ t^ ̂ q^ t I

(A) ifeq "fe

(B)

(C) -q^-^ im

(D) "q^fqq

87. "qf^qpT ■feoqf ^ "gRi qr^ qi^

qrat ^ 1^ "fqqr C"^),

-chetnial f I

(A) "M
\

(B) ^qq^iqqr (i\q^-y<l) ^

(C) qtqq

(D) f|^

(2)S/09/2024/A

86. Whole garment can be pressed by. ,'

although small parts such as collars and

cuffs "may have to be pre-pressed: The

garment is put on the form which is then

inflated by blowing with steam and air

for one or two minutes. This type of

treatment is only suitable for garments

made from dimensionally stable fabrics.

(A) Moulding Press

(B) Steam Dolly

(C) Flat-bad Press

(D) Fusing Press

87 is defined as the items which are

attached to the garment by sewing for
I

example—^zipper, label, laces etc.

(A) Pattern
.  s

(B) Accessory

(C) Seams

(D) Trims

11 P.T.O.
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88. sra -^1^) ̂

^  I ^ ^ ̂ael

^ ̂ t ^ ̂  arrant

t^ ̂ ^ ̂  f ai^ -3^ ̂

^ am^ TT^ "t cnfe qi4^

n  1

(A) fq<^qi (B) "^TT^

(C) ntn (D) Iqciiqq>

89. ^ ̂ ̂ IM^ TEm ■'TF

31^ ^ '^*

TRT I •<

(A) ^

(B) ^

(C)

(D) aw in

90. "SnJR ^ "HfsCT

■qr arewT ^ arrt ^ rarsT-rar^T

^♦^(n ^ ^FRn t" :

(A) W^5H

(B)

(C) ^

(D) "pit ^

88 is a metallic salt of fatty acids,

they lower the surface tension of the

water so that the fabric can be wetted

easily. They remove soil from, the fabric

and hold the soil separately so that it

does not settle back.

(A) Bleach (B) Soap

(C) Blue (D) Solvent

89. When buying a printed pattemed fabric,

check properly that the pattern has been

printed on...... of the material.

(A) waip

(B) weft

(C) true grain

(D) off grain

90. In this type of sampling procedure the

sample goes on becoming bigger and
»

bigger as the observation or study

proceeds :

(A) Purposive

(B) Judgement

(C) Quota

(D) Snowball

(2)S/09/2024/A 12
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91. "f^ "m ^ t ̂  :

(A) t

(B) -M t

(C) ^ ̂ t

(D) ^ t ■

92. qiftrnfeiT ^ 1tcft^ 37^F7T

■  t ?

(A) Mqqr 37^^

(B> 37^,

(C) ̂ 7^^ 37^^

(D) <fq^ qrtf

93. ^ m

TJK7T7 t ?

(A) 1qzm (B)

(C) 37Fte (D) Psbq^qn

94. "31^ 87q7R (^teq) rHHrciPTsId ^

TITO t ?

(A) TOtf̂  STTOT 'qn

(B) HFff^ «7TOT qq

(C) qqfro «ttot qrr

(D) 3M^cK1 ^

(2)S/09/2024/A 13

91. The decisions are taken when :

(A) there is hindrance in the process

(B) there is no inspiration

(C) there is lack of resources

(D) a problem arises

92. Which is the second stage of the family

life-cycle ?

(A) Beginning stage

(B) Expanding stage

(C) Contracting stage

(D) None of the above

93. Which of the following is the first step

of Management Process ?

(A) Controlling (B) Evaluating

(C) Planning (D) Executing

94. Boredom fatigue is a type of which of

the following ?

(A) Physiological fatigue

(B) Psychological fatigue

(C) Eco-fatigue

(D) None of the above

P.T.O.
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/

95. rHHPdRsld ^ ^

wte ̂  t ?

(A) ^ ̂ t3^* "nM* '^* 4R<N^Id

(B) T3^* 3^3n^r ̂  "qfec^T

(C) ^ "Mft^

(D) "^TR^

96. PHHRrlRsld ■^* ^

<^PddiiR4P<dKT ^ %R ^ t ?

(A) «iR (B)

(C). (D) ^^JMdl

97. RFRT "4* nRqK

^ ̂  ̂ arf ^3ff ^ Tj^ ^
di^dldl t ?

(A) '3M

(B) aiFT

(C) rrRt^ ^

(D)

98. '■^^' ^ 3;T«f ^ t ?

(A) arsfsi^^ ^ "siRi

(B) 3ilclJ#'4=+)dl ^ eTFRT

(C) ^RTf -Q^* ^ ̂  ̂  ̂  aTcR

(D) ^ "3?^^ si^qmWRfT

95. Which of the following is not a work-
(

simplification technique ?

(A) Change in body position and

motion

(B) Change in tools, working area and

equipments ^

(C) Change in production sequence

(D) Change in time schedule

96. Which of the following resources is same

for all the people/families ?

(A) Money (B) Time

(C) Energy (D) Skills

97. The flow of goods and services which a

family enjoys over a given period of time
t

is called as :

(A) Real Income

(B) Money Income •

(C) Psychic Income

(D) . Daily Wages

98. The term 'savings' means :

(A) A responsibility for economy

(B) Cost of current necessity

(C) The difference between earning and

expenditure

(D) Directly inproportionate

(2)S/09/2024/A 14
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99. rHMldPsid ^

■  3Tf^' t ?

(A) TT^*

(B) THfepT

(C)

■(D) 3TTi^"

100. 1^1^ d=hHldi fer^* ^ ^

^  3T^ "SIM ^ t :

(A) ddidldi

■  (B) ^ ddidldi

(C) fl^ dd)dldi

(D) d^idl^

101. Pi*-iRil<aa ^ ^ "dr^

.  f ?

(A)

(C)

(B) ^

(D) W\^ (^STFT)

102. 1^ V]. ^ "^TT iTB^ ^

^ ^ MR'HlRicl l^fv^TT ipiT "t ?

(A) TTF '

(B) cftOT (si^)

(C) t] {-^ t])

(D) 7TOT

(2)S/09/2024/A 15

99. Which of the following is concerned

with 'Right to basic needs' ?

(A) Health and Education

(B) Entertainment

(C) Services

(D) Receving Information*

100. A sampling technique, in which all the

units have an equal chance of being

selected :

(A) Purposive Sampling Technique

(B) Random Sampling" Technique

(C) Stratified Sampling Technique

(D) Convenience Sampling Technique

101. Which of the following is not an element

of art ?

(A) Form

(C) Texture

(B) Rhythm

(D) Space

102. -What is defined as the relative lightness

or darkness of a colour.?

(A) Value

(B) Chroma (intensity)

(C) Hue

(D) Quality

P.T.O.
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103. ^ OT "SfTORt

.  ■ ^ ̂  t ?

(A) Wf ̂  "HTHFT

(B) fta^M 3fk ^

(C) m ̂

(D)

104. rHHPdRcid "#. W ^

"f^ [qnln "BFfl 'SntTT "I" ?

(A) 1^

(B) airara ^

(C) TT^ 3n^ ̂

■  (D) fe# fern

105. Pi+dRnRaa ifl^ IPWlt ̂

ctili^i WT "I ?

(A) Ft tW^T ^

^ ̂ 1^ siii^i t I

(B) t* it ir^M-i ifh

wfef ̂  Tlt^

^ t* HM^ll W^ t" I

(C) '^^il ^ iftr

(D)

(2)S/09/2024/A 16

103. The floor plan provides which of the

following informations ?

(A) General arrangement of different

rooms

(B) Height of the windows and doors

(C) The roof lines

(D) Length of boundaries

104. Which of the following is considered as

an apex financial institutions for housing

in India ?

(A) Housing Association Finance

(B) The Housing Development Finance

(C) National Housing Bank ,

(D) Delhi Development Authority

105. Which of the following statements is true

for Green Rating Systems ?

(A) These are designed to promote

sustainable construction practices.

(B) In India, it is recognised as the

Indian .Green Building Council's

Green Building Rating System.

(C) Different countries have their own

Green Building Rating Systems.

(D) All of the above

https://applink.adda247.com/d/XhqWf9lSap
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106. ^ ̂  ̂ ^ ̂

^  t ?

(A) <<2H.tsiiq triMia

(B) vjieilq^a #M ̂

(C) ^ t

(D) ^^ Mi<j)Rich yqumi

t

107. rHHfdRsJd ^ ^ ̂TR

..t ?

(A) ̂ NiicHqi

(B)

(C) V^ wrfe OTeft

(D) ^ Rim

108. =hJij[c-Hdi "fe^TRR ^FTT^

=tili<l hih'a'S '^' -qifey, ?

(A) ^ ̂TW

(B) dil4did[ ^ ^

^iq5(qqiai

(C) fer ^aTFT ^

(D)

106. What is the disadvantage of the

hydroelectric power generating dams ?

(A) High rnaintenance costs

(B) Long life of hydropower plants

(C) Induces seismic activities

(D) Uses natural gradient of water

107. Which of the following is not one

amongst the four main elements in the

diffusion of innovations ?

(A) Emotional Appeal

(B) Time

(C) A Social System

(D) Communication Channels

108. Which criteria should be considered to

design a functional workplace ?

(A) Location in vertical space

(B) Amount of space required by the

worker

(C) Location in horizontal space

(D) All of the above

(2)S/09/2024/A 17 P.T.O.
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109. Rnrdfed ^ fedil

^  t" ?

(A) (ocrtid ^ "Tf

Hd^chl Pd^+1 amt "q;^ ̂

w t

(B) RasI^^T 1^ F^Mch ̂

t  ■ ■

(C) fesMf ̂  ^ 4 ^

1^, ^ 37^ "^TT ^ 3^k

t

(D) W m OTt il Rsi^rdi-MT ^

^ fMt srmt t

110, Pi+^feiRaa ■^* "p;^ 37^

yvHMdl ^ i^ srm^ t ?

(A) 1^ 31?^

(B) 3^ WT 31^

(C) "F?^ 37r?q^ ciTf^

(D) ddidl^l 3Sk ^R* Srfqsqf^

3rH

109. Which of the following describes the

skylight windows, most appropriately ?

(A) A window placed vertically in a

sloping roof that has a tiny roof of

its own

(B) Windows with pictures stuck on

them

(C) Windows located in the comer

which can be opened inwards or

outwards

(D) Windows located on the ceiling

, which allows sunlight to come

inside

110. Which of the following points is an

essential for a good questionnaire ?

(A) Many open ended "questions

(B) Short and simple questions

(C) More difficult questions first

(D) Using technical terms and vague

expressions.

(2)S/09/2024/A 18
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111. ^ 31T3 ^

tT^I+mIh t I

(A) fs^iiq^

(B)

(C) 1^ ̂  37^^
'»

■(D) ^3^. . ^ "

112. Ri«&i*uchK ^TFTPTfFTT 'Slqch fqcjii^

"^TT ^Pich [qqii-ti ^

i^ t ?

(A) 37^

(B) Wm

(C) fwfe

(D) aM?T7

113. 3^ oinrMN't^TT

<tilifiQi fqchRna "^iT^ ^ 1^ Pi^^RnRaa

tof¥iT ^ 't ?

.  (A)

(B) '*i(sii

(C) ^ ftte 'teif ^ .-^ WTT

(D) ^c:il ^

(2)S/09/2024/A

ni. The period of prenatal development that

occurs from two to eight weeks after

conception is known as :

(A) Germinal stage/period

(B) Embryonic period

(C) Period of fetus

(D) Zygote

112. Which theorists had put heavy emphasis

on biological development and on sexual

development in particular ?

(A) Albert Bandura

(B) Erik Erikson

(C) Sigmund Freud

(D) Abraham Maslow

113. Which of the following activities is
►

appropriate to develop fine motor skill in

early childhood ?

.(A) Running

(B) Stair Climbing

(C) Stringing of beads

(D) Crawling ^
19 P.T.O.
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114. ^ W

t ? ■
f

(A) (B)

(C) ■ (D) WTFft^

115. fRT ^ 31^^ ■^*

^FfHT/^^' I

(A) 27-39 dB (B) 40-54 dB

(C) 55-70 dB (D) '71-89 dB

116. 3;T5^* 315RR, 14 ^ ^

■  "^TT oclilicti <l^^lK

ri<4ir^n 'T^ 1^RTT '^A*\\ I

(A) 22

■(C) 24

(B) 23

. (D) 25

114. Which of the following is not the

characteristic of special- education ? .

(A) Interventory (B) Goal-oriented

(C) Specific "(D) Generalised

115. Hearing level in case of mild hearing

loss is

(A) 27-39 dB

(C) 55-70 dB

(B) 40-54 dB

(D) 71-89 dB

117. RtM^TT ^ ^ 315?TR, ^
31^^ ^ ^ ^ PjcbdA

^  ̂ ^ 31k ilihllRd

t :

(A) 'W^ "aif^

(B) 3lfriTI

(C) WF/feOT

(D) ""7^^

(2)S/09/2024/A . 20

116. As per Article , no child below

the age of 14 years shall be employed to

work in any factory or in any dangerous

employment.

(A) 22 (B) 23

(C) 24 (D) 25

,117. According to Marcia's Identity theory,

this stage forces an individual to find

alternatives and choices to come out a

crisis period :

(A) Identity Achievement

(B) Foreclosure

(C) Mortarium

(D) Identity Diffusion

https://applink.adda247.com/d/XhqWf9lSap
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118. ^ "3^ f :

(A) sfOT Pcj^hRHd ^ t

(B) TjldT-fW ■^TT®?

t,

(C) STT^ oTO "^T^* ^ -qr^ t

(D) ^ -51% ^ f

119. aiq^ "^T#!^* sTcRqnr ^ dilvid

"q?^ ^1oi^ "I* ?

(A) "q^

■  (B) "HTIR

.(C)

(D)

120. fern wnf^ I^TOT ^ wfe

}A ^^^\ "I r^tiA dtpidi

tera ^ -f^ -qlw, ^ sIr
^ #qf ^ ^ 3Tm^TOti ^

t i" ^ ̂ r«H Pb^dii t ?

(A) i^Rd^H

(B) ^

(C) "fqqT^

(D) ^FT*^

(2)S/09/2024/A 21

118. The young adulthood is the period in

which :

(A) Intimate relations are developed

(B) Relationship with parents - are

worsed

(C) Can't express their emotions.

(D) They are insensitive to others

119. From where children first acquire skills

for interacting with peers ?

(A) Neighbourhood

(B) Society

(C) School

(D) Family

120. "Cognitive development is viewed as

socially mediated process, in which

children depend on assistance from

family, peer group and other people for

suitable intellectual development." Who

stated this ?

(A) Erikson \

(B) Bahdura

(C) Piaget ]
I

(D) Vygotsky

P.T.O.
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121. ^

arfe ^ t I

(A) ' (B)

(C) ̂  (D) fm

122. PHHrdn^d ■^" ^ ^ ^

Ml<J)Riet) f ?

(A) . (B) "3^

'  (C) (D) ^

123. ^cjifecih- araPT^Rz? ^ ̂

i:

(A) ^ 3T^R<fe ?qpTJTT

(B) ^ W#3R

(C) "3^3^ ^ ^HHdl

(D) mRcllRcb

124. TTRH-IW TIM ail^ ^fePI ^

Vr •^-

^  ̂ t 1

.(A) ai^ ' .

(B) ^dl^dm

(C) h«jRi

(D) TO

(2)S/09/2024/A 22

121. A broken family is more conducive to

increase of crime in

(A) Boys

(C) Mother

(B) Girls

(D) Father

122. In the following which is a naturaf

method of contraception ?

(A). Copper-T (B) Vasectomy

.  (C) Condom (D) LAM

123. A situation that creates marital

disharmony is :

(A) Unrealistic concept of mmage

(B) Adjustment to mate

(C) Similarity of backgrounds

(D) Family Life-cycle

124. The protective behaviour received from

parents can be seen in the child's

behaviour later on :

(A) Unsafe

(B) Psycho-anguish

(C) Enthusiastic attitude

(D) Neglected expressions

https://applink.adda247.com/d/XhqWf9lSap
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125. ̂  Miai-rHcii PtRa ^

t, ̂  mRciiR^

<3CH"1 "f 1

(A). '{INKTm'JI

(B) ■ ■

(C)

(D)

126. MiRqiRch dOH"!

(A) STR'TI^^

(B) "qft^ ̂  -gRI- Mil^ltdl

^ 3PHFTT

(C) ^ 3T^ oEf% ̂  TT?^ ̂

^I'll

- (D) ^

127. TTf^a^f ^ ̂frr ̂  "^tRt ^

ffe ̂  ^ HWR ̂  RaQii4>

' W ̂ 'i

(A) ^ TO 354 ■

(B) 3TTf.Tft.^. ^ .to" 375 TT8?t 375

(C) 3TTf.it.'?it. ^ TO 498-"^

(D) ^ TO 312 •

(2)S/09/2024/A

125. When parents do not behave according to

the established concepts arises in

family relationships.

(A) Accusation

(B) Conflict

(C) Estrangement

(D) Compulsion

126. The reason for the emergence of family

conflicts is :

(A) Self-realization

(B) Adoption of extreme situation by

family member/members

■ (C) Less importance of the individual as

compared to the family

(D) Extended form of family

127. Legal protection against assault
^  s

intended to harm the dignity of women

is :

(A) IPC Section 354

(B) IPC Sections 375 and 376

(C) IPC Section 498a

(D) IPC Section 312

23 P.T.O.
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ilL

:  -

(i) ■ (ii)

(iii) ̂  (iv) ̂

(v) yikl^cll

\A) (iii), (ii), (v), (i), (iv)

(B) (iii), (iv), (i), (ii), (v)

(C) (iii), (iv), (ii), (v), (i)

(D) (iii), (iv), (v), (ii), (i)

132.

.  "^IWT t ' ̂
T^' <ri-q1cn ^ f l'

t : .
(A) ^

(B) fenr

(C) W5RTR^ pHcSI-fl

" (D) ■ wiW T3^' ^ feSRi

133. <riW^d ^ ifer fFifvifer WR

TiHT wr t. :

(A)

"aftf^STf^ =h5l

(B) ^ "^ivi
"^51, Ptii nRn^fd^l "4"

(C) W,

(D) t^RT "^IVl
sfrr 1^ "a^ ^

(2)S/09/2024/A 25

131. Anange the elements of communication

process in sequence :

(i) Feedback ' (ii) Channel

(iii) Sender (iv) Message

(v) Receiver

(A) (iii), (ii), (v), (i), (iv)

(B) (iii), (iv), (i), (ii), (v)

(C) (iii), (iv), (ii), (v), (i)

(D) (iii), (iv), (v), (ii), (i)

132. The theory that believes that 'media are

extremely powerful -mstitutions and

media consumers are naive and

malleable,' is :

(A) Hypodermic or Bullet Theory

(B) Personal Influence Theory

■(C) Sociological Theories

(D) The uses and gratification theory

133. Lasswell's model of communication
follows the sequence : •

(A) Who says, to whom, under what
circumstances

(B) Who says, what," through which
channel, to whom, under what
circumstances and with what
implications

(C) Who says, to whorn, with what
'  implications

(D) "Who says, to whom, through which
channel and with what implications

P.T.O.
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J:

134

135.

136.

137.

^ ̂

(A) "q;^' aTifer

(B) achl1=hl, HiBlchI, .3Tlf8f^

(C) a^tJilchl

(D) "^T^ssfTM, ariRf^

8ft ?

(A) 1960-1969 (B) 1970-1979

(C) 1965-1974 (D) 1975-1990

ftf ^ ^

37Tf.'^.'3l. ^ ^ :

(A) f-WH

(B) |-4qM

(C) ̂  WIcf

(D)

^4iKkq4) o^ci^K ^8^T

"^ngqife" wnf^ oq^wR

qft ^rrrq ^ f^ffw
Rl4iRid qRft qft ■ "qfel .t :

(A) oqqeK HRqcfi "^qR

(B) WR 4H4K!cH4i

(C) -^hR

(D)

134. Which levels of problems in

cominunication of information are

indicated in Shannon and Weaver's

model ?

(A) Mechanical and Economic

(B) Technical, Mechanical, Economic

(C) Technical Only

(D) Mechanical, Semantic, Economic

135. Kheda Communications Project (KCP).

was functional in which term ?

■  (A) 1960-1969 (B) 1970-1979

(C) 1965-1974 (D) 1975-1990

136. Which is not a form of ICT used in

communication for development ?

(A) e-Govemance

(B) e-Choupal

(C) Lok Panchayat

(D) Telecentres

137. The interactive process with communities

to develop specific messages to develop

positive behaviours and maintain

individual, community and societal

behavioural.change is : .

(A) Behaviour Change Communication

(B) Interactive Communication

(C) Organisational Communication

(D) Business Communication

(2)S/09/2024/A 26
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138. ^

I^^PT ^sil^TT* 3TfTO

■  t:

(A) 3K?5 ̂  TfeT

(B) dW<^d

(C) ̂ ^^-WrdPsb-MI "rTF^"

.  (D) itTT ^ i#g^

139. ■ 378f t WT

1

(A) '-

(B) yikididf

(C) ̂zTRs^Ti ^ we

(D) yrdPs+i-m

140. iT^iT. ^ "nf a#q>

.  Ffl^ (DOI) SKft^ ^ 37^ :

(A) WT. ̂  ̂  ̂

t", 37^: ̂ftrr 37W

t I

(B) WT ̂  ̂

itIot. -^f -d^* t - 1

(C) #Tf,^' %-dt ̂  372^^ felR ̂
^ ̂  cRTOT ̂  t I

(D) d=t)d1di ^ Ph^i

(2jS/09/2024/A

138.. The conimimicatioh model in which only

three • communication elements i.e.

'Speaker, Subject and Audience' are

indicated, is :

(A) Aristotle's Model

(B) Lasswell's Model

(C) Stimulus-Response model

(D) Schramm's Model

139 means to impart understanding of

the message.

(A) Encoding

(B) Receiver

(C) Decoding

(b) Feedback

140. According to Diffusion of Innovation

(DOI) theory given by E.M. Rogers :

(A) An idea ,or product gains

momentum with time and difihises

in the social system, and is finally

accepted by people

(B) Time does not play any role in

diffusion process "

(C) People are always eager to accept

new ideas or products ■ I

(D) Diffusion is not possible without

technology use"
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141. ^3^* t :

(A)

(B).

•  (C) Wt

(D) ^

142. PiMRnRan TRTR ^

feRT 3^* t ? .

(A) (j«i*i(n ¥^33 ̂  ten

(B) JHHHdl ^ feRT

(C) ^ *

■  (D) ̂  ̂ feRT

143. Psb-MldidmY ̂  ^ TOR ̂  ̂

■^R3T % ■RTijyf "Mf^ ^l4sbH ^ ̂
y^t'K ^ ■f^^'TOT ^ cti^dldl t :

(A) chi4stiH ^(r^|t+)d

(B) <t>l4shH "^RTFTOT

(C) ^ "4^31

(D) =tn45hH 3^^

144. 13RM^ "4' 4)1d^Hl WRTpRTT ^ifWT
t^RTT "^fl" ci=t)'il<^ "3^ "i" ?

s

(A). Cl-^qri 3T

(B) ^331# 3T ^

(C) TO^

(D) 3iqrril=fti

141. Method demonstraction meeting is :

(A) Individual contact method

(B) Mass contact method

(C) Group contact method

(D) All of the above

142. Which of the following is hot the
principle of extension education ?

(A) Principle of grassroot organization

(B) Principle of cultural similarity

(C) Principle of participation

(D) Principle of leadership

143. An outline of activities so arranged as to
enable efficient execution of the entire

planned programme is known, as :

(A) programme evaluation

(B) programme execution

(C) plan of work

(D) programme objectives

144. Which of the following is not the
■ technique of Participatory Learning
Action ?

(A) Transect diagram or Maps

(B) Chapati diagram or Venn

(C) Flow diagram

(D) Observation
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"qR^iFTT ^ ■smraf

^  t ?

(A) 1W

(B) ^

(C) "Qcf "SROT

(D)

146. DRDA ^ ^ t :

(A) 1^ "umW

(B) TTPTN "SnfqWT

(C)

(P)

147. 'CHETNA' ^ -^ -^ % :
I

(A) ,itm

(B) "QTcf -qtm

(C) V^' TT^

(D) "Cr^' TT^

(2)S/09/2024/A

145. "The Fanners' Training and Functional

Literacy Programme" project is

implemented by which ministry ?'
•  I

(A) Education Ministry

(B) Agriculture Ministry

(C) Information and Broadcasting

Ministry

(D) All of the above

146. Full form of DRDA is :

(A) District Rural Development Agency

(B) District Rural Development

• Authority

(C) District Research Development

Authority

.  (D) District Research Development

Agency

147. Full form of 'CHETNA' is :

(A) Centre for Health Education,

Training and Nutrition Awareness

(B) Centre for Health Education,

Teaching and Nutrition-Awareness

(C) Centre for Health Education

Training and National Awareness

(D) Centre for Health Education

■ Teaching and National Awareness
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148. PlHRriHsld

"  t ?

(A) WHlcq^

(B)

(C) HdVllHdi

(D)

149. WTcit TI^ W#

3TSq^ ̂  t : ■ .

(A) 3TfiiT^

(B) m 3#T^

(C) "feiraWr r^Kni

(D) "3^ mR 3#!^

150. ^ WR ̂  ̂ ^

TJ?- aTakR^ ^ t ?

(A) ¥5^ 3rtfW-(USA)

(B) ■^5TT3FT

(C)

(D)

148. Which of the following is not the domain

of 'Bloom's Taxonomy' of Educational

objectives ?

(A) Cognitive

(B) Affective

(C) Psychomotor

(D) Psychoanalytical

149. In Panchayati Raj System the Chairman

of 'Zila Parishad' is :

(A) Block Development Officer

,  (B) Village Development Officer

(G) District Collector or District

Magistrate

(D) Block Extension Officer

150. In^which country the Extension Service

is called 'The Co-operative Service and

Home Economics Service' ?

(A) United States of America (USA)

(B) Japan

(C) Israel

(D) Philippines
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